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37. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것은?

(A) As the speakers of English became more socially 
stratified and as literacy became more common among 
middle-class people, there were words in writing that 
were not in people's own vocabularies. 

(B) However, writing makes it possible to look up in 
dictionaries words which one might not come across in 
the normal course of events. Indeed the first dictionaries 
of English were published with this in mind. 

(C) Clearly they needed a dictionary, and that market niche 
was filled first by rather simple lists of 'hard' words but 
later and most notably by Samuel Johnson's dictionary, 
in which he attempted to list all of the words in the 
eighteenth-century English of his time. 

① (A) - (C) - (B)          ② (B) - (A) - (C)
③ (B) - (C) - (A)          ④ (C) - (A) - (B) 
⑤ (C) - (B) - (A)

Whole vocabularies exist in languages, and in people's 
heads. In a society where there was no writing, 
dictionaries would not exist but then neither would they 
be needed. Speakers would learn all the words they 
needed from others' use of them.  


